Mental Ability Test-

(NTSE-X),
Part-1 (3791-1)

/mamt[ﬂati’ga-

Directions (1-6) There is a number series
following a pattern. One place is left blank. Find

Q.1

Q.2

Q.3

Q.4

Q.6

Q.7

Q.8

-, out the correct answer from the options.

340, 168,42, 14, T oo .

h 5 2) 7 39 4 u

321,322,321,325,317,326,299.....

h 315 2) 215 (3) 115 (4) 105

0.5, 1.5, 4.5, 13.5, .....

(1y 455 (2) 395 (3)303 (4) 405
2 3 4 35 ()

\/5 . 5 . {/§q 25 weeeres) |

66 7

1.1,2,4,4,9.8, 16, 16, 25,.....,36

H 25 2) 24 (3)32 “4) 36

2,5,10,17,26, ......., 50

(1) 40 2) 35 (3)36 4 37

Class A has students twice that of class B. After
adding 20 students to class A and 30 students to
class B the total number of students in both the
classes is 140. What is the number of students in
class A'inthe beginning?

(1) 30 2) 60
3y 80 4 160
If the first four letters of a term

‘HIPPNOWADISAM’ are written in reverse
order, the next five letters are written without
changing their order and then, the
remaining letters are again written in reverse order,
then which letter is in the middle of the word?

1y O 2 W

3) A @ 1

Questions:1 to 50
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Q.9 In the following letter serics how many times.do
‘PQR’ occur in such away that Q is in the middle

of Pand R.
QMPNPQRROPQNOPPQRPMQROPQRPPRRPQRP-
y s (@6 -3 4 4) 3

Q.10 How many 5’s are there in the following sequence
which are immediately followed by 3 but not
immediately preceded by 7 ?
895325385568733577536533573853
{1y One 2) Two
(3) Three (€))] Four

Q.11 Which word will appear third in dictionary?
(1) BALLIUM (2) BALLISTICS
(3) BALLERINA  (4) BALLISTITE

Q.12 Which word will appear Last.in the dictionary?
(1) Laugh ) Latch
(3) Laurels 4) Latitude

Q.13 If — stands for addition,
« stands for subtraction,
1 stands for division,
L stands for multiplication,
3 stands for equal to, then which of the
following alternatives is correct.
() 20562286
(2) 55737224
(3) 31617253615
4) 743761 1H4

Q.14 1f L denotes x, M denotes +, P denotes+, Q de-
notes —, then 16p 24M 8Q 6M 2L 3=2

Mmw. @9 @12 @n

Q.15 1f + means %, - means +, = means-, and X mean +,
then which-one of the following equations is cor-
rect?

(1) T+8-2+5%12=45
(3) 66%4-9+11=88

(2) 36-6+10%x5=65
(4) 162+10-2x12=218

Q.16 If the given inter changes namely: signs + and +
and numbers 2 and 4 are made in signs and numbers,
which one of the following equations‘would be

correct? »
(1) 274+3=3 2) 4+2+6=15
(3) 4+2+3=4 @ 2+4+6=8

Y13

Y15

Jor &3t »ivgt @ 3t &9 fast @9 ‘Par’

w@er I fa fam &9 q,p W3 R © fegae T8

QMPNPQRROPQNOPPQRPMQROPQRPPRRPQRP
Iy 5 @6 @3 4 4 3
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(1) BALLIUM

(3) BALLERINA

9

Y11

(2) BALLISTICS
(4) BALLISTITE

Y.12 faggr mae, meedn © o4 MaATd mdtd 3 mier Ji

Latch
Latitude

(1) Laugh (2)
(3) Laurels (4)
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1 ©T HIBY §ITHT I
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(1) 20562136

2) 55737214

(3) 3161253635

(4) 743760 14

Y.14 H L € H3SY x, M € H3BY +, P ETHIBH +

M3 Q TTHITHE-IT It 16p 24M 8Q 6M 2L 3=
() 10 (2) 9 @12 @u
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(1) 7+8-2+5x12=45
(3) 66x4-9+11=88

(2) 36-6+10x5=65
(4) 162+10-2x12=218
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(1) 2+4+3=3 Q)  4+2+6=15
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Directions (Q.17-18)In the following question there
are equations without signs between each two numbers,
Find out from the given four options which one would
render the equation to the correct.

Q.17 202 Ad A6 A13
() -+ += (2) +, - =
3) = -+-= “) +E, .=
Q.18 10 A19 A21 A3 A22
) (]) 5+ = (2) +, -
(3) +’ "y +,= (4) +’ +’ —’::

Directions (Q.19-21) study the following
information to answer the given questions. In a certain
code language. “rise and shine” is written by ‘935°, “nice
sun rise” is written as “719” and “sun and moon” is writ-
" ten as ‘657°.

Q.19 What is the code for ‘Sun’?

s @6 @7 @1
Q.20 Which of the following represents *moon rise’?
a7t @13 (3) 67 (@) 9.6
Q.21 What does “1’ stands for?
(1) nice (2)sun (3) rise (4) ‘moon

Q.22 Hf tree is called green,
green is called rain, rain is called water, water is
called air, air is called blue. Where do the fish swim?
(1) water (2) rain (3) air  (4) blue

Q.23 A family has a man, his wife, their 4 sons and their
wives. The family of every son also has 3 sons and
one daughter. Find out the total number of male

members.
O 2) 12
@3) 4 - 17

Directions (Q24-25) read the following information
carefully and answer the questions which follows...
Anupma started from point A, walked 7 m towards
the west. Took a left turn, walked 2m and reached point
C. She then took a right turn and walked 4m to reach
point D. She then took a right turn, walked 2m before
takinga final right turn and walking 3m before stopping at
point B.
Q.24 How far and towards which direction is point A from
pointB,
(1) 6m towards west
(3) 10m towards east

(2) 8m towards east

(4) 10m towards west 3
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feamut fe¥ arfega fagt e fagar myg Adt e
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(l) =, +:~= (2) +," ::—

(3) e +x= (4) +a T
y.18 0 A 19A21 A3A22

(,) =Ty +a= (2) +a 5

(3) 0y +, = (4) +’ Fyoy=
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(1f nice (2)sun (3) rise (4) moon
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EcEi U
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Q.25 If Anupma walks 2m towards South from point A
and reaches point E. Which of the following points
(including E) would fall in a straight line?

(I3 AB @3] AD
(3) BC 4) CD

(0.26[n a certain code REVERSE is written as
SFWFSTF. How is FORWARD written in that
code?

(1Y ENQVQZC (@
. (3) GPSXBSF (&)

GPSVBSE
GPSXBSE

.27 In a certain code language “OUTER’ is coded as
‘MSRCP’ and STICK is coded as ‘ORGAD. In
the same code “WHOLE’ will be coded as ......... ?
() YIQNG (2) UFMCJ
(3) UFIMC “) UFMJC

Q.28 HfSEASONAL is written as ESSANOLA, howean

SEPARATE be written in that code?
(1) SEAPARET (2) ESPARATE
(3) ESPAARTE (4) ESAPARET

Q.29 In certain code language RAGHAVAN is written
as GARVAHNA. In that code which word will be
written as MATHAVAN?
(1) TAMVAHNA (2)
(3) TAMHAVNA (4)

TAMVAHAN
MATVAHNA

Q.301f in a certain code language BLOOD is
written as 24113, BRUST is written as 26078, then
the code of ROBUST is
(1) 620781 )]
(3) 678102 @

(.31 In a certain code language BROTHER is coded as

612078
610732

2456784, SISTER is coded as 919684, then what is

the code for ROBBERS?
(1) 182522 2) 4562684
(3) 9245784 4) 4522849

Q.32 In certain code language if TEA is written as 2051,
Then COFFEE=?
(1) 365566
(3) 315566

316655
3156655

03
1G9

Hag WEunT fig A 3 2 rteg Sue fewr g
gaet I w3 fig E 3 uwiuet 91 Iz fahent
fe¥ faud fig (E mi) féa fifdt Sur fee
Jear?

() AB
(3) BC

@)
(4)

fan &3 g f&9 REVERSE & fafipir mier
I STWFSTF @7 &5 f&9 FORWARD § fa@ -
ot Aar?

(1) ENQVQZC (2)GPSVBSE
(3) GPSXBSF  (4)GPSXBSE

fai & g f&9 ‘OUTER’ 8" &3 ‘MSRCP’
J W3 STICK = &% ‘ORGAI’ 31 &R g
f&9 ‘WHOLE’ e &3 &t §=ar?

(1) YIQNG (2) UFMCIJ

(3% UFIMC (4) UFMIC

Y.28 A9 SEASONAL § ESSANOLA fsfimr afer
T 3t @R &5 f&9 SEPARATE § fa@ fafpar
T ?

(1) SEAPARET(2)
(3)ESPAARTE (4)

AD
C.D

Y27

'ESPARATE
ESAPARET

fait &= 987 {9 RAGHAVAN & fafterr 7rer &
GARVAHNA. G aar f&9 MATHAVAN & faos
a3 3 fafer wraam

(1) TAMVAHNA (2) TAMVAHAN

(3) TAMHAVNA (4) MATVAHNA

far & gmr &g BLOOD § 24113, BRUST .
& 26078 fafumir wer &1 3T ROBUST Tr &7
&7l

(1) 620781
(3) 678102

Y.30

612078
610732

(2)
(4)

far &% g7 f&9 BROTHER ®T dF
2456784, SISTER € &% 919684 It ROB-
BERS = &7 &t 92ar?

(1) 182522 (2) 4562684

(3) 9245784 (4) 4522849

y.31

fai @ g few TEA § 2051 ffnr wier
J1 3* COFFEE=?
(1) 365566 (2)
(3) 315566 (4)

Y.32

316655
3156655



Directions (Q.33-40) what will come in place of ques-

tion mark (?) in the following questions.
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R EIE 2[5 Lals
6] 2] 3]
m3 @4 Q6 @ 9
S 1 RN €1 R £
o34 L6l2]  [4]3 L7]s
4] 7] 2]
Hh 13 @10 (3) 08 (4) 06
Q35 - 3_0-] TZ-] 7‘
Lels [3]4 Lsl4
E R £ I 1
(1) 22 ()20 (3) 26 (4 24
Q.36
M 4 @25 () 64 (4) 100
Q.37
(I 20 @ 25 3) 10 @ 15
038 ofofe
o @O
0]016J010J0J0)
OREO®E
01020
5 (2) 6 3 8 4) 41
Q.39 (25) (20) (20
(2s{27{35) (60}30}40) (25]7]35)
)y 30 () 33 (3) 35 4) 40

faaew (YAE 33-40) 35 fad yat ¥ yms Ny

(7)€t 7T g9
12] 6] 7]
43 [1]3 2|5 [4]5]
* 6] 2 B
M3 @4 @6 @ 9
5] 1] 4]
wae [e[z] [EC L=
? .f'_] Lﬂ L"_}
(H 13 @10 @3) 08. (406
N 2 R 2 [
" Lels L3]4 Lsle
(M 2 (@20 3) 26 (@24
Y.36 <%
g
Vs
1 4 @25 (3 (4) 100
y.37
(20 @25 G100 @DIs
.38 01610
0JOXOX0J0,
0J010JOJO10J0,
QOO0
OO06
15 @6 (3) 8 (4) 41
Y.39
(29) 20) (40)
o (25]27]35) (eof30l40) (25]7]35)
(4) 40

(1) 3 @) 3 (3) 3



Q40 1 g alElolL] "
3lecle | HI13] 2
(1) 180 (2) 16R  (3) 13T . (4) 20W

Q.41 The diagram gives the number of candidates who
failed in chemistry, Physics and English in different
tests. The total number of candidates appeared was
600. What is the percentage of candidates who
failed in atleast two subjects?

Physics

English
(H 125 )

Q.42 Four positions of a dice are given below. Identify
the number at the bottom when top’s number is 6.

AR,

ms @O ®»3 @ 4
Q.43 Four views of one cube are given below. Each of

the six faces of cube is numbered. In figure 3 which
number will be opposite to the face with number 37

o A s

) @ [©)) (3]

125 (3) 1205 (4) 12

mir @2 G5 46

Q.44 Which one of the following figures represents the
relationship among Zebra, Grass eating animals, Lions?

() © o
@ ao

®) @
@ 000

Bla|EfofL]?

3jCc| 6| HJ13}?

(1) 18Q (2) 16R (3) 13T  (4) 20W
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Directions (Q.45-47) study the following venn diagram
carefully and answer the questions.

Gir!s_

~-> Dactors

$ 14

Teathers

Q.45 Which no. represents the girls doctor who are not

teachers? i
(H 7 (2) 6
3) 9 (4) 15

Q.46 Number 8 represents-
(1) The doctors who are teachers also
(2) onlydoctors
(3) girls who areteachers
(4) girls who are doctors

Q.47 Which no. represents girls who is teacher as well
as doctor-also?

(1 9 2 6
3) 8 @ 7
Directions (Q.48-52). The letters .......... given be-

low follow a definite patteren. Find out the missing let-
ters to complete the pattern,

Q48a cead e dceadc
(1) ddca @) dcae
(3) ccde (4  acde

" Q49 __abba__-bb.___abbaa___b

(1) aaab 2) abab
(3) bbba 4 baba

Qi0m___mm___nmmmn__mmnm ___
(1) mnmn ) nnmm

nmmn

3) nmmm €]

faaem (yax 45-47) It &3 o &5 39 & fonrs

58 uF 3 &3 a8 urst € §39 fedr
. ) et
1 }
NS
i ® “ —» AT
wfeyrug
y.45 fagar yia ssait sraeqd faosht mtmmug
aT I § Tamger I7
m 7 @ 6
3 9 63} 15
Y46 ¥ 8 wowder I-
(1) zaes g wiforug =t s
(2) &% 9T

(3) st fageht wiforus 95
(4) SIEMT fRoshrt graes o5

Y47 fauar Ala, szadr fagatit mfmwua w3
a9 gt o5 § wemger 3
mn 9 2 6
(3 8 @ 7

foadn (ynw 48-52) Jot f&3 a2 wuat i

st fea foufox gu dur (Pattern) & wigwma &1 fem gy
Jyr § yTr 395 BEt BUF wiugt § S

Y48 a cead e__ deeade

(1) ddca ) dcae

(3) ccde 4  acde
y.49 abba __ bb___abbaa __b

" (1) aaab )] abab

(3) bbba 4) baba
Y.50 m__mm.—__nmmmn.__mmnm ___

() mnmn ) nnmm

(3) nmmm “@) nmmn



Q.15

2.

ENGLISH

Read the following passage and answer the questions given after it.

Jyoti lived with her mother in a small village. From a young age she had witnessed her
mother, a widow, being ill treated by the villagers. But when she was in high school she
began to understand things. She couldn’t take the insults to her mother any more. She
decided to change the way widows were viewed in village society. Jyoti started a “Widow
Empowerment Campaign”. She spoke to village elders and knocked on two hundred
doors to spread her message. She learnt to organize street plays which she used to make

people aware about the plight of widows. '

Naturally her ideas were not acceptable to the society entrenched in tradition. People
pushed her out of their houses and refused to listen to what she had to say. But she went
on relentlessly without faltering. Today, widows are allowed to go out of their homes like
others. Many, including her mother are now employed at organisations and literacy
centres.

The story of Jyoti is an illustration of

1. rigidity of traditional families.

2. organisation of street plays. g

3. the spread of employment opportunities for widows.

4.  crusade of a young girl for social change.

A major factor in Jyoti’s success seems to be
1. social and economic development programmes.
sympathy and encouragement from her mother.

2
3. herown courage and determination.
4

support from her friends.

“She knocked on two hundred doors” indicates that Jyoti
1. went knocking at the doors one after the other.

2. visited people at their houses individually. /

3. approached a large number of people.

4. spoke to every family in the village.




Q. 6-10

The words ‘entrenched in tradition’ imply that villagers
I. deeply believed in traditions.

2. were opposed to traditions,

3. had begun to shed traditions.

4. had begun to follow traditions.

Jyoti’s relentless campaign
1. created an unrest.

2. created a dent.in society.
3. left people untouched.
4. created a revolution.

H

Read the following passage and answer the questions given after it.

Designing toys for children is challenging yet stimulating. Considering the low attention
span of today’s kids, toys with higher play value are able to engage them longer. Young
minds are also quite impressionable. So toy design has to be conscious about ethics and
values and also aid their cognitive, physical, emotional and social skills. But above all, fun
is the primary objective of play. Fun is what makes them come back for more; makes
them learn and remember. Another crucial factor is eco-friendliness. Some of the best
pro-environment design processes can actually be found in the Indian handicrafts industry.
One such example is the lathe-turned toy craft of Channapatna— a town near Bangaluru.
The age old craft uses wood and colours made completely from natural materials like
turmeric, kumkum, indigo, etc. Creating modern designs based on such conventional
techniques opens up a new range of products that are unique, educational and organic.

Toys are said to have a high play value when

they present challenges to desigﬁers and to éhildren who play with them.
they are costly but also have high quality.

they are able to keep children’s attention for long periods.

e -

they are used by a large number of children.

The reference to the ‘impressionable nature’ of young children is to suggest that
they are attracted to toys that are well designed and brightly coloured.
their attitudes, values and ethics can easily be influenced by others.

they like toys that help them learn and remember while having fun.

hanl S e

they like toys which are small in size.

—_
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Q.11-18

1.

Toys that are considered eco-friendly are those that
1. promote interestin preserving the natural environment.

2. use natural materials.
3. help the development of social skills.
4. use high quality fibre.

Which of the following is true for the toy craft of Channapatna?

1. Itis famous for their beautiful shapes and bright colours.

2. Itis made by artificial materials. |

3. ltis based on modern design principles and efficient machines.
4

It is an old and traditional practice.

‘Fun is what makes them come back for more; makes them learn and remember.” means
Children learn through fun and play.

Children play more and more for fun.

Children remember things while playing.

Children learn only through play.

R o e

Read the following passage and answer the questions that follow.

Years ago, people woke up to find sparrows chirping in their backyard. A noisy lot, they
took grains right from your hand if you had befriended them. They got over their fear
easily and demanded food or water with their loud chirping if you had forgotten to give
them their regular share of food. Tiny pink beaks opened to morsels of food or worms
sometimes regurgitated by the parent birds. We had a splendid time watching the bird
family bond and as children sat gazing at them as they picked up grain or splashed about
us in muddy water.

Many people have written poems and lyrics on sparrows, their noisy chirps, their friendly
‘nature, and their spotty feathers. Sparrows were a menace on the fields. There were guards
with slings and stones to chase them away as they ate grain from standing crops. Now
people are trying to woo them back to nature.

The author calls sparrow a friendly bird because
1. they chirp in the backyard.

2. they demand food. )
3. they eat from our hand. |
4. they are with humans always.




12.

13.

14.

15.

Which of the following statements shows that watching sparrows was fun for the author?

1.

E;J

Tiny beaks opened to morsels of food or wornis sometimes regurgitated by the parent
birds.

Children sat gazing at them as they picked up grain or splashed about us in muddy
water.

They demanded food or water with their loud chirping.

They live near our houses.

The farmers consider sparrows a nuisance because

1.

2
3.
4

they are loud and noisy.

they chirp loudly.

they splash around in muddy water.
they eat up the grains from the fields.

‘Regurgitated by the parent birds’ means

1

2.
3.
4

chewed and fed

digested and brought back
chewed and spat out.
swallowed and brought back

Sparrows have been a topic of interest for many...

L
2.
3.

poets
scientists
farmers

children
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Q.16-17  The following five sentences come from a paragraph. The first and the last sentences

16.

17.

are given. Choose the order in which the three sentences (PQR) should appear to
complete the paragraph. -
S1 One major problem that the world faces today is the rapid growth of population.
s2 ‘
83
S4
S5 This will cause serious problems of hunger and overcrowding!

P — This is often referred to as population explosion.

Q — It is not so much the actual popuiation, but its increase that is alarming.

R — Experts predict that by 2020 there will be about 10 billion people in the world.

Choose from the options given below:

1. QPR
2. PRQ
3. PQR
4. QRP

S1 Supposing you have to make a payment of Rs. 100, you could do so in coins.
S2
S3
S4
S5 This paper money saves you a lot of trouble and also saves precious metal.

P — The person to whom the payment is being made would also find it very
tedious.

Q — So the government gives you the alternative of paper money.

R -~ But so many coins would be very cumbersome to'carry around.

Choose from the options given below:

1. RQP
2. PRQ
3. PQR
4. RPQ




Q. 18-19 Following questions have the second sentence missing. Choose the appropriate
sentence from the given options to complete it.

18. A. My sister and [ have never seen a house on fire before.
B. ,
C. We rushed out and saw fire blazing in the distance.
1. We joined a large crowd of people who had gathered at the end of the street.
One evening when we heard fire engines rushing past my house.

!Q

What a terrible scene we saw that day.

bW

We went out with everyone.

19, A. By climbing summit of Mount Everest you are overwhelmed by a deep sense of
joy and thankfulness.

=

. The experience changes you completely and you are never the same again.

P

Itis a joy that lasts a lifetime.

Yet, it is a fleeting moment.

You feel humiliated. 2
It is a justification

B =

Q.20-29  Choose the word which best fills the blank from the four options given.

20. It is a good practice to the document once again before sending it for
publication

. scan
2. peer

look up

L

4. see

21 When the teacher asked Ravi a question, he gave her a blank
I. gaze :
2. glare
3. stare
4. peek



22,

23.

24,

25.

26.

27.

She had her fixed on the horizon.
glance

sight

gaze

oW N =

look

If you something amiss, please contact the authorities

I. notice
2. view
3. sight
4

. glimpse

1

Icaught a of him in the crowd for a fleeting moment before he disappeared.
1. glare '

2. glance

3. glimpse

4. look

After the shipwreck, they were on the island for three days.

1. sleeping
2. marooned
3. guided
4. found

]

The landlord the tenet for not paying" rent.

1. evicted

g

posted
. forced

Lad

shooed

>

The village in the wake of tsunami, was a terrifying of a devastation.

scenery
scene
landscape

R

moment



28. The workers angrily voiced their to the management.

1. preservation
2. resentment
3. irritation
4. resistant

29. A fair-minded person is required to the dispute between the two

brothers.
1. mediate

2. interrupt
3. intercept
4

. moderate
Q.30-35 Select the meaning of the given phrases/ idioms.

30. Pulled up
1. helped
2. advised
3. told
4

. scolded

31. Keep up

1. maintain
2. leave behind
3. confirm
4. accept
32. Carry on
1. start
2. execute
3. finish
4. continue



3.

34.

35.

Q. 36-40

36.

37.

Hand in glove

1. in collusion

2. holding opposite views
3. warm and secure

4. with friends

Be in someone’s shoes

1. wear shoes that do not belong to self

2. be like them

3. to pretend to be somebody else

4. imagining oneself to be in another person’s situation

Pull someone’s leg

1. to tease somebody

2. to throw somebody out

3. to trip a person purposely
4. to stretch someone's leg

In the following passage there are some numbered blanks. Fill in the blanks by
selecting the most appropriate word for each blank from the given options.

At markets or at county fairs in the old days, the customer had to be on guard against a
dishonest trader. A house wife, for example, wanting (36) buy a live piglet
might be (37) a discount if she bought (38) packed
one, tied up in a small sack (39) a poke. Anyone who agreed to (40)
a pig in a poke was naturally taking a risk

for
from

into

EallE N

to

served
offered
preferred
liked

1.
2.
3.
4.




38.

39.

40.

How o - W

W0 -

the
an

some

said
known
called
thought

buy
sell
give
eat

10



Q1. Aray of light goes from the medium of refractive .91 & yamg St fags R Hrfmmns figmar MUZIIS

092

Q.93

Q94

index 11, to a medium of refractive index M. The

angle of incidence is i and the angle of refraction
is . Then (sin i/sin r) is equal to;

M n @
Gy wmyu, “)

H,
1

A boy sitting on the top most berth in the
Compartment of a train which is just going to stop
on the railway station, drops an apple aiming at
the open hand of his brother situated verticaily
below his hands at a distance of about 2m. The
apple will fall:

{1} Inthe hand of his brother

(2)  Slightly away from the hand of his brother
in the direction of the motion of the train.
Slightly away from the hands of his
brother in the direction opposite to the
direction of the motion of the train.

None of these

(3)

)
In the following electric circuit, what will be value
ofi and i,?

A A B
) e
} purm
1
R, , R
(]) I = mewat | Iy= i
R+R, R, + R
~ A, =t
@ "TRer 3 "TRan
i_R,,+.R3i ’___.R2+R',I,
3 R, i 2 R2

(4) Noneof these

The human ear can detect continous sound in
frequency range 20Hz to 20000 Hz. Assume speed
of sound in air is 300m/s for all
frequencies.Calculate the wave length
corresponding to the given extreme frequencies

of audible-range:
h  6.5mm (2) 16.5mm
(3) 116.5mm 4 61.5mm

15

W, T 3 g Wit fAR T wiyeess B
U, 3, TF A T I et = | w3 oumelaT
d< rJ 3t (sin i/sin r) fam & gaveg 297
(1) 2 p

(3) u,u, (4 w7y

féafefemraa’ré’xa’ré@uaam’rmz(bmh)é
a'ar%ﬁwasﬁrfa%a%n%ms}aaeem‘r?n@a
WS 3y fed feq Ay »ud gor @ ot fog
feerd 7 fa offeg et et I Jst B 31 SR fy
Ay fag fSder?
(1) €7 @ ggr & Jut fog)
(2) @R & g9 & §5v T §=r faor U &1

ot a3t &t fanr E3
(3) Qﬁéﬁéﬁ?éﬁwfﬂwuﬁa‘@

et arst &t @ne four &1
(4) feast fed &8t a0t

35 63 o2 faweset Fowe fre e i, i i ot
a3 &t 734t ?

A g 5
E > 'R,‘
I
; 5 . R
R
, R , R,
DA RAR 5 "TRaR
. _R+R, . _R,+R,
(3) L= R, { ; ty = R, i

(4) feost &5 gt =at

fﬁan&u’t&xmzom?‘zoocomwﬁ:ﬁ
IR I g Aawr 1 s 56 g i wirenr o
1St 300m/s APt nrfegtut TR ¥ 1 geatar
R Tt niydt (extreme) st Tt 3dar et
g2ati

{1) 6.5mm
(3) 116.5mm

16.5mm
61.5mm

(2)
(4)



Q.95 Ifwe increase the velocity of the body by three times
what is the change in kinetic energy?:
(1) 3times 2) 6 times
(3) 2times (4) 9 times

An electric kettle is rated 230V & 1000W. What
is the resistance of its.clement?

() 52.9 ohm 2) 5.29 ohm

3y 529 ohm 4 5290 ohm

The wave lengths corresponding to violet, yellow
and red lights are 2 sk ,and 3 respectively then:

M A2>A,>1, ) A.<A,<2,
@ A,<A,<1, @ A,<A, <A,
The image of a candle is formed by a convex lens
onascreen. If the lower half of the lens is painted
black, to make it completely opaque. What will
be the size and intensity of the image attained?
(1) image same, intensity reduced

(2) image and intensity remain same

(3) image small, intensity same

(4) image becomes bigger, intensity reduced

Q.96

Q.97

Q.98

Q.99 The purpose of glass cover on top of a box-type
solar cooker is to
(1) Allow one to sce the food being cooked
(2) - Allowmore sunlight into box

(3) - Prevent the entry of dust in the box

(4) Reduce heat loss by radiation

.......

Q.100 A 60 kg man goes around the earth in a satellite.
In the Satellite his weight will be?
(1) 6kg {2) Zero
(3) 60N (4) 600N
Q.101 The Principle on which Generator works?
(1) Magnetism 2) Electric field
(3) Electromagnetic (4) Flux
Induction

Q.102 Two bodies with kinetic energies in ratio 4:1 are
moving with equal linear momentum. The ratio of
their masses is.
1y 12
(3). 41

11
1:4

(2)
G

16

Y.95 73d fai 9% 3ot ang &t 9w 3 e =wr e g

€n €t aifsw Genr fad g =g sratt
(1) 3 g (2) 6 v
. (3) goret (4) 9g=t
y.9¢6 fear famaet d==t vt afear 230V & 1000w 31 fewr
2 AUfaar (element) @ ySt3uar fE=t 53t 7
(1) 52.9 ohm (2) 5.29 ohm
(3) 529 ohm (4) 5290 ohm

y.97 Agg §aret, WisT w3 v dar Dhat fagst st
e'fs%arz%we’tav,a.y»@art‘r%w
(1) A2>4,>2, @) A,<2,<2A,
() A,<A. <A, @) A,<2,<4,
Y98 g Wigt e yItfaw €93 87 oore mads 3
yug 9T wer &1 Aag Baw @ Jo8 fiw §
wUTgEaHt 858 wEt Ue 59 fogr wrd gt yfsfay
& Al i Fraaar 3 ot ggx uar
(1) y3tfae o ety @4t 33ar w3 Stees ue
Wit

(2)ySteg w2 Fegar @t sdait
(3) Y3t v Aty &ev w3 Jhagar Ot adat
(4)ySHfar er Aty S w3 Stagar de wsit

Q

v.99 ﬁm%éaeaaﬁéewaﬁmfa&m
wrer g7
(1) YT & I7 G farr 3 T st
(2) 3t FIN €t fagat frdrer wrger fég
WET g9 T '
(3) 3*+ UF S WET 3T HTRRE |
(4) 3t |7 ¥oast gt 99 BT AT RS

y.100 fear femast fam & U7 60 kg § Q0 Aemrete &
WET UIST & ME-grE U faor T fdewte @

nieg Grer g9 fas 5oy

(1) 6kg (2) Zero

(3) 60N {4) 600N
Y.101 Hedeg fan faars S ager 3

(1) nardfeay (2) fomsetdge

(3) fens guat o (4) efaw

Y.102 € THZH' W HITHT A W11 &8 4:1 WEUTT
&t aifgw GamT &8 9% ot 951 Quat & I

T WEUT T
M 12 'P) 1
3)’ 41 @ 14



Q.103 Empirical formula of compound is CH,0. Its
molecular mass is 60. The molecular formula will

be? '
(1) CH,O ) C,H,0,
(3) CH,O, “) C.H,0,
Q.104 Which of the following ions have 18 electrons, 19
protons and 20 neutrons
(1) Ca? Q) K*
3 cr &) S
Q.105 Which of the following is an example of colloid
(1) Vinegar ) Milk
(3) Muddy water 4) Sugar Solution

Q.106 The total number of electrons that take part in
bond formation of N, molecule.
() 2 @) 4
(3) 6 ) 8

Q.107 A Compound contains six C-H bonds, two C-C
bonds and one C=0 bond. The formula of
compound is
() H,CCH,COOH
(3) H,CCOCH,

(2)
“

H,COCH,
H,CCOOCH,

Q.108  pHof 0.001M NaOH Salution is
(n 1 (2) 10
3y 1 (4) 9
Q.109 Which substance will contain maximum number of
atoms
(1) 4gm of NaOH ) 4.4gm of CO,
(3) 2gmofH, €3] 24gm of O,

Q.110 Which one of following should not be done
(1) Placing dilute H,SO, in a Zn vessel
(2) Placing copper sulphate in Ag vessel
(3) Placing dil H,SO, in copper vessel
(4) Placing zinc sulphate solution in a
copper vessel,

What is the mass percentage of hydrogen and
oxygen in hydrogenperoxide (H,0,)

(1) 5.88%;94.12%

(2) 6.88%;93.12%

(3) 94.12%; 5.88%

(4) 93.12%; 6.88%

Q.

Y.103 Ui e ys-nizust g39 CH,0 §1 Grer
wE U7 60 T1 3™ g gIg Jq9r

(1) CH,0 )

(3) C,H,0, @

Y.104 fovs foug nifest fed fan 8% 18 fedaes,
19 Yevs »3 20 fales o&

C,H,0,
C,H,0,

(1) Ca¥ (2) K'
(3) Cr (4) s*
y¥.105 fors faug fed arfes & @ewas 1
(1) frgar (2) €U
(3) s yrat (4) Yz eTum

Y.106 N, »< {39 a& &3 fedaes fus sae
g gar 8 o
(1) 2 (2) 4
(3) 6 (4) 8

y.107 fEx enrfefea dfom fé9 & C-H &us, § CC
s w2 fEx C=0 fuw J1 Gfore e pw §
(1) H,CCH,COOH " (2)  H,COCH,
(3) H,CCOCH, (4)  HCCOOCH,

Y.108 0.00! %3 NaOH W% & pH J2ait
(1 1 (2. 10
(3) 12 (4 9

y.109 fan yersy <9 w9 3 fimrer uawg a5

(1) 4gm of NaOH (2)  44gmofCO,
(3) 2gm of H, (4) 24gm of O,
y.110 fegt fed v ot &9t aaaT grdter

(1) 98 H,80, & fig € a935 &9 quer
(2) YT ABIT € UH § Uit & w935
&9 gyzr

{3) 9% H,50,% a7 € w935 &9 gyer

(4) foer Assee S0 § g T W95 o gver
Y.111 TESIHE UPAaRTEts (H,0,) e oelsaws

W3 wraAtAs ©F UR yfgrg wrger uzr a9

(1)75.88% ; 94.12%

(2) 6.88%;93.12%

(3) 94.12% ; 5.88%

(4) 93.12% ; 6.88%

17



Q.112 In the balanced equation the value of x and y are
3Cutx HNO,—53Cu(NO3),+yNO+ 4H,0

(h 3.1 2) 86
3) 82 4) 7,1
Q.13 Alloy German Silver does not contain one of the
following metal.
(1) Cu(Copper) 2) Zn (Zine)
(3) Ni(Nikebh 4) Ag (Silver)

Q.14

Which part of the human alimentary canal, is the
site for complete digestion of carbohydrates,
proteins-and fats.

(1) -Stomach 2)
(3) Large Intestine @

Small Intestine
Rectum

Which of the following pairs is incorrectly
matched?

(1) Ligament-yellow elastic tissue.

(2) Cartilage- adipose connective txssuc ‘

(3} Lymph- fluid connective tissue

(4) Bone-skeletol connective tissue

Q.115

Q.116

Which of the following is not true about apical

meristem?

(1)It is present at the growing tips of
stems and roots.

(2) Itbrings about elongation of the stem and root

(3) It brings about secondary growth

(4) It brings about primary growth

Q.117 Which part of the brain controls co-ordinated
movements of our body, such as riding a bicycle?
{1y - Cerebrum (2) Cerebellum
(3) Medulla @) Pons

Q.118 The correct order of the parts of a nerve cell
through which a nerve impulse is transmitted is.
(1) Nerve endings-dendrites-axon-cell body
(2)  Cell body-axon-dendrites-nerve endings
(3) Dendrites-nerve endings-cell body axon
(4) Dendrites-cell body-axon-nerve endings

Q.119 Which of the following cell organelle does not
participate in cellular division.
(1) Ribosomes (2)
(3) Cytoplasm (4)

Chromosomes
Nucleus

18

u112ﬁ3?are}amfefeamﬁaa€fevxm§yerm
31 3Cu+x HNO,~3Cu(NO3),+yNO+ 4H,0
(1)73,1 (2) 8,6
(3) 82 (4 71

y.113 fiafeg ovg Fovs frses &9 faost o3 st
get

(1) Cu (Fyq) (2) zZn(ffe)
(3) Ni(f&3®) (4)  Ag(frs=9)

un4me°rmm’tefa'agfmfévmréiaz
Tets w3 wost, ust g9t iw wie om)
(1) fger (2) &tweg
(3) FJFT ooy (4)  Jaew

Y.115 3o fafnr feS faud §3 o o nat &t 3
(1) fearive- Wor seaisr feg
(2) TeBA- AFtIw vz fog
(3) ®Htar-395 T3 fey
(4) J31- fime A= feg

Y.116 I5 i quaT fed fagar findt dtdr a3
At a9t &
(1) o ImgrSffowr Inafagi®os
(2) fev 3@ w3 Ag ot Huet f¥w =
qIe I&
(3) feo n&s9t feaw ooe o
(4) feg yfewat feam a9 o

Y.117 A3 19 &9 gans s7% I ovstat Soagt
e ardtas ger@er, fovimar & faud fif ot

femrfsaaﬂs?wn*eﬁwam

(1) Adtgey (2) Adtdsy

(3) Agwr (4) - U=xw
Y.118 B &5t Aw &9 Ades &t ot O @ g

f&g, few goate &g aget &)

(1) 575 g - S'sadten - Mans - i Fatg

(2) A5 AT - Saws - Igavten - a3t fag

(3) 839%ew - a7&t 79 - Aw wete WS
(4) Szgetew - A% AAT - AaAs I1Et i

Y.119 35 fafimit feg' faosr 3 imr fiw &3 fg
I 541 Ber?

(1) Tretammm (2) J=Hs9
(3) mfEdusTy (4) dosa



Q.120 Gautam prepared a slide of thigh muscles of

cockroach. What ‘type of muscles would he

" observe, when he views the slide under a
microscope.

(1) Striated muscles
(2) Non-striated muscles
3y Both striated and non-striated muscles
{4) Nervous tissue
Q.121 Which of the following statement is true about
dicotyledons,
(1) Their root system consists of sxm:lar
fibrousroots
(2) Theirleaves have parallel venation
(3) Their vascular bundles are arranged
inaring ' )
(4) Their flowers are trimerous
Q.122 Which is the largest endocrine gland in human
beings.
(1) Pituitary 2) Adrenal
(3) Thyroid 4 Parathyroid

Q.123 A plant has a body differentiated into root, stem &
leaves, It also has tissue for conduction of waterand
other substances, but has naked embryo. Under
which type will such plants be classificd?

(1) Gymnosperms () Angiosperims
(3) Bryophyta ) Pieridophyta

Q.124 Which part of the human car converts pressure
variations into electrical signals.
(1) Eustachiantube = (2)
3) Eardrum 4

Q.125 Choose the correct hierarchy in classification group.
(1)  Phylum-class-order-family-species
(2) Phylum-order-class-family-species
(3) Phylum-class-famity-order-species
(4) Phylum-order-family-class-species

Auditory nerve
Cochlea

Q.126 In which of the following ways the number
123456789 can be written as the product of powers
of prime numbers.

(1) 32x3803 %3607
(2) 7#x 3807 %3607
(3) 132x 3801 %3601
4 112x3813x3813

Y.120 S0 & 99 € Ue &t Uit &t Awets
famrs &9t AETely & et Jor due 3
8n & faw yarre & 3 a9 Wl
(1) grdteme 37
(2) udtafaz 7
(3) €& ugterg w3 wat ofoa 3%

(4) &7t feg

y.121 35 fafunr foF faosr gas 8-t Uzt Ofomr
et At ;
(1) /feast & w7 yert, dew Agr Tt
got
(2) Sfgnr fEg m gfoet yemst
i
(3) ufezfos fep Swras gadlvew e on
(4) feost e g fas iR T 05
Y.122 H§Y &9 ng 3 3t “ireg farrst’ et faost
I
(1) fuggtedt (2) »ItEs
(3) =retorfes (4 Uogetofes
y.123 feq U9 {39 7g, 37 w3 U3 Sy Sy nume 35
few feg yat wig 39 uoow € fovss Bet fiww
fer &t & g fen féu gge &R om i1 fem gt @

U< faw =aar feg Q=41
(1) /frSauay (2) WAlGAUTH
(3) yfeGeele (4) SHaFeete

u124mmwmmmm§ﬁm
fen féu geser 31
(1) gudHsfe@a (2) Az &=t
(3) d& e yger (4) IS

Y.125 ‘T9ait g9 gy’ < Aat varEEt g
(1) TEler-Iet- mraso-ga-ar3t
(2) TEIBH-ngEg- AST-da-wrat
(3) TEBH-RS-dB-mI3T-ATSt
(4) wﬁm—m—éw—ﬁa%—wg’r

Y126 Afvmir 123456789 & wig ffwnret & wrg @
Feaes T gy few Jof fefout feg fan o
WWWWUI
(1) 32x 3803 x 3607
(2) 7%x 3807 x 3607
(3) 132x 3801 x 3601
(4) 112x3813 %3813
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Q.127 A traincoversadistance of 480 km with a constant
speed. If the train runs with a speed 8km/hr less
than the original speed then it takes 3 hours more
to cover the distance. Find the speed of the train

(2)

4)

40km/hr
30km/hr

(1) 60kmvhr
3) S0km/hr

Q.128

In the given figure, find the area of the shaded region.
Here ABCD is a square with side 10cm. The semi circles
are drawn by taking each side of the given square as
diameter (take n = 3.14)

(1) 97 cm? ) 67 cm?
3y 75em? “4) 57cm?
Q.129 If the triangle XYZ is distorted so that £Y is

doubled and ZZ is tripled, then £X becomes a
rightangle which of the following is a possible value

for Y. :
{1):75° 2) 60°
(3) 45° ) 30¢

Q.130 A taxi charges Rs 75 for the first quarter of a mile
and Rs15 for each additional quarter of the mile.
The charges in rupees for a trip of d miles is
() 75+15d (2) 75+75d
(3) 75+15(4d-1) 4) 75+4.(d-1)

Q.131 A farmer has some chickens and some cows in
his farm house.If the animals have a total of 120
heads and a total of 300 feet, how many chickens
does the farmer have?

(1) 60 2) 70
(3) 80 @ %
Q.I32 If tanB+CotO=2, “then the value of
(tanB)'*+(Cot0)'™ is equal to.
(1) 200 5] 100
(3) 150 4) 2

Q.133 Acircleis inscribed in a given square and another
circle is circumscribed about the same square.
What is the ratio of the area of the inscribed to the
circumscribed circles?
(1 14
3) L2

4:9
2:3

2
G

20

y.127 fexr 3 15t 480 farait. & gt fem s v
&% I F9et 71 Aqe fenet ww 8 fait, =t
e e get 3t gdt 3w a9 BEt 3 U fromrer
B9 | 3% Jit E IS u3T 79I
(1) 60 fait ySturer  (2) 40 farsit yat per
(3) 50 fart yStdrer  (4) 30 forat yt e

€—— 103>
Y.128 (= 3

fe3 ot f9g9 feg efowrors foaies o d30es
yzr 531 fed ABCD fex =aar § fanst o33 g7 10
Front & 1 T9ar & gAT § ford f8d g a3 fud o
TS (T HT 3.14 BG)
(1) 97 Myl (2) 67 2
(3) 75 fo )iz (4) 57 Mt

U129 ¥ AXYZ & 2Y § warer w3 /2 § foorer aws
T LX B WU AT g 772 3t I fofiprr
feg faggr 2Y @ WY § REwr 37
(1) 75° (2) 60°
(3) 45° (4) 300

Y.130 fea 2ant 339 Hiw e s @ ufod 3§ fo7 st
75 guE faerfen 8€t w3 »ars g9 Jareh s
et 15 guB faarfenr =nw gt 3 igdt 0 s
&et fagrfenr gfimr feg 539
(1) 75+15d (2) 75+75d
(3) 75+15(4d-1) (4)  75+4(d-1)
y.131 fex fans 35 gy gA w3 &9 aref 051 Raw
Aaeat @ frat €t forest 120 w3 Jet &t farsst
300 32 3t faws d% gfont &t farsat i ?

(1) 60 (2) 70
(3) 80 (49 9%

Y.132 AT tanB+Coth=2 I It (tanh)"™4+(Cotf)® &r
i_:m -
(1) 200 (2) 100
(3) 150 (4) 2

y.133 fear 99T € Wiee garet & Auaw gaer Sag fufenr
famim 1 =gar & 999 favst T Swer Ja7 fufomr
fapT 31 %298 SaT O 43998 T §U98 ST T

439e® 9 MGUI UST F91
(1) 1:4 (2) 49
(3) 1:2 (4) 2:3



Q.134 What is the set A if
A={x: xeR; x*= 9 and 2x=4}
(1) Infiniteset
(2) Finite set with two elements
(3) Singleton set
{4) Empty set

Q.135 In the figure, the value of x is.

2) 18

(1y 36° (3) 54° (4) 6%

Q.136 Inthe given figure, tl}\c value of x is.

30!
X

34° 45
8 € D
1y 45° )34 (3) 64° (4) 109°
Q.137 The value of 0423 .

iL? 5 419
M 599 @ 99
, A2 . Al
3 Tooo @ 599

Q.138 A man buys a pair of shoes for 10% less than its
original value and sells it for 10% more than its
original value. His gain or loss percentage is.

(1) No profit, no loss
(2) 20% profit
(3) Less than 20% profit
(4) More than 20% profit
Q.139 What are the real roots of p¥7-1as =1,
2
z —15
M 03 @ -L%
2
ot 5
® 5 @ L%
Q.140 The probability that a non-leap year has 53 sundays is.
1 1
a—— 2 o
2 2
(3) 7 @ 5

Y134 YT A fo 39 E7 § 799 A={x: xeR; =9 w3
2x=4)
(1) #&3 AT
(2) farzatiar € WAt T8T
(3) fegfour myw
(4) YTa} AT

~

y.135 {939 féw x & % 0<ar|

18°

(3) 54° (4) 68°
Y136 fa:?"m%f%aafeq“x o Ws 39T

30

34° 45
B C b
(1) 45° (2) 34° (3) 64° (4) 109°
Y.137 o433 T IS T |
a1 , A
M 599 @ 990
, A , A
3 To00 @ 999

uxssfeamrﬂwﬁsﬁwwfeaw@wém
m?‘m%wz?u’rf‘ewn@@ngmmg
10% 579 2 29 fear 1 Gn &Y &9 % 7 T3 %
ot 3&ait?
(1) &" &t 77 T &7 at st
(2) 20% &'F
(3) 20% S WE &F
(4) 20% T IT BT

Y139 5d-nas=| & THIfET Y5 T5 |

M 0% ® L%
2
® 3 @ 1%
y.140 fex 53 Stu 7w few 53 Ag=d s
o frgreaT &t JEait?
1 1
M 3 @ 3
2 2
® 3 @ 3
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Q.141 What is the unit digit in. - Y141 BT (6374)1%(62577x(341) @ feqret

(6374)17%% x (625)"7 x (341) AE™S @ Wd JEar
(1 o (2) 2 (1) 0 (2) 2
3) 3 4 5 (3)3 4y 5
3 37 |
— =24 -'mml—-— F =2 4 1
3 - . > " X+ < far
Q.142 If T where XY, z are natural %142 FIT yel TE > XY 2
numbers then values of x,y,z are yfgsa ﬁﬁf'ﬂ*@' 5 37 x,y,z 7 §& ot §ar|
(1) 1235 2) 15,2 (1) 125 {2) 152
(3) 521 4 251 (3) 52,1 (4) 251
(0.143 Find the value of 3 J0.000064 ¥.143 {/7/0.000064 T H& UIT 5|
(1) 0.02 @ 02 (1) 0.02 (2) 02
3) 008 @ 08 (3) 0.08 (4) 08

Q.144 ’ll‘]hehie'nith c;ﬁf lthe.e shad;:v of a ltreefisl \,6 .time: y.144 foq o9uz @ ygard ot Savet oouz ot Suet
the height of the {ree. The angle o elevation o o x X o -
& g 3 3 T 9189 7t gon e Qe G ot 53y

the sun is.
(H 300 ) 45" (1) 30° (2) 450
3y o0 4 90° (3) 60° (4) 90°
Q.145 In the given figure, PQ and PR are the tangentsto  u 145 fo3 3% figg feg PQ "3 PRIET O 8 Jag
the circle with centre O such that ZQPR = 500 &t Rugw Suret 9% 1 S ZQPR = 50¢ & gt
then ZOQR is equal to ZOQR T WY J&am
(1 2s° @ 30 (1) 25 (2) 30
@) 40 “@ 50 (3) 40° (4)  s50°

- Hrr € 7?[3—%’73’ wesT
Q.146 Who led the procession of workers to the event 1146 Hf %f%? 53; 6"(3‘ a5 ﬁ?_r Ht 7 et 3t

‘Bloody Sunday” in Russia? -
(1) Gapon ) Lenin (1) 37 (2)  Bfsxs
(3) Kerensky 4 Stalin (3) Fawat (4) AeTfees
Q.147 Who hosted Congress of Vienna? Y147 fonraT g e mf{g At ?_
(1) Bismark (2) Nepoleon Bonaparte (1) m (2) BUSBPns Garyrge
(3) Volire (4)  Malternich (3) I®emid (4)  Nedfsy
Q.148 Amritsar was founded by. Y.148 i3AT € a7 fan qg & Rt 2
(1) Sri Guru Angad Dev Ji (1) ft 37 vEre S
(2)  Sri Guru Amar Das Ji (2) §t TF »higew ST
(3)  Sri Guru Ram Das Ji (3) # 31g v =
(4)  SriGuru Gobind Singh Ji (4) At g difte finw #t

22



Q.149 Annexation.of the Punjab by the British-in ‘

15.August, 1947 A.D.
26 January, 1950 A.D.
29 March, 1849 A.D.
21 February, 1849 A.D.

(1
(2
()
“4)

(.150 Read the following statements and choose the

correct option.

(A) Allahabad pillarinscription is written

in praise of Chandra Gupta-|

The Vishnu temple at Devgarh is
dedicated to Lord Vishnu,

A is false but B is true,

B is false but A is true.

Both A and B aretrue.

Both A and B are false:

(B)

(h
(2
)
“)

(.151 Which ofthe following is not correct matching.

(1) Gautama Budha - Tathagat

(2) Vardhamana - Mahavira

(3) Ashoka - Priyadarshi

(4) ChandraGupta-1 - Napoleon of India

y.149 e €3 %@Rwf & quuT g dfemr?

(1) A5 %3aMI, 1947 ¥
(2) 26 A&=dt, 1950 €.
(3) 29 WY, 1849 &1,
(4) 21 ga=dt, 1849 e}

y.150 35 fod gs uZ w3 ndl feasy @t S a9

(A) fesoae & fady Seo-gua ufod
& yir &g fag e 951

(B) fe@arg feu fewd Mfeg o fend
& AHauz J1

(1) AJBI I YT BRI T

(2) BIBIT TS ARG I

(3) A™3 BES Adt 75|

(4) Am3 BE3 IBI T5|

y.151 95 fefint feS faosr ay (ge) W &at geer?

(1) “dra §u - @Az -

(2) TIUNS - HIT<lg

(3) wig - fynpeant

(4) ¥eg U3l - 93 v faustns

Q.152 Match the events and movements given below i1 155 3 fafimt weaTer W wiEsst o Qust 575

with the name of the persons associated with them. 73 fomgdt 5% At ge NS &9

(a) Formation of Muslim League (i) Ali-Brothers (1) WAl St & mEngET ()t gar
(b) Part'mon of Bengal (ii) Lord Curzon (2) &orm ot &7 (it) BT qaTE
(c) nghanwala Bagh Massacre (iii) -General: Dyer (3) wieniesT grar (iii)-m?’f?ﬂ’
(d) Khilafat and non (iv) Agha Khan' o FIBAN

co-apgttion movement (4) fmeIwI o hE (v)wErus

Which is the correct matching | =995 HEEE

Dya-(i), b-(ii), c:(iii), d-(iv) forgar ge At &1

2}y a-(ii), b-(iif), c(i), d-(iv) Da-(i), b-(il), c-(ii), d-(iv)

3)a-(iv). be(ii), c-(iii), d-(i)
4) a-(iii), be(iv), c-(i), d-(ii)

........... carried away the peacock throne of Shah
Jahan to Perssia.

(1)  Mohamad Ghaznavi (2) Timur

(3) Nadir Shah (4) Balban

2)a=(ii),  b-(iii), c-(i), d-(iv)
3)a-(iv), ‘b-(ii), c~(iii), d-(i)
4y a-(iii), b-(iv), c-(i), d-(ii)

Y.153 B'T HY'E OF HI Uyt fRwms ugnbar

.................... B fommi
(1) wfoye ama<t (2) W
(3) &9 BT (4) wEs

Q.154 Which Guru ordered Banda Bahadur to avenge ;154 faw a9 & 7oz mfyy fog e HUTEB’ & vt

Mughals at Nanded Sahib?

(1)  SriGuru Gobind Singh Ji

(2)  Sri Guru Teg Bahadur Ji

(3) Sri Guru Hargobind Ji

(4) SriGuruArjan Dev i .
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(1)t ag difte finu w1
(2) At 31g 3ar goreg #t
(3) Ht g7 godifEe At

(4) A g waws S At



.......... was the founder of Ramgarhia Misl.
(1) Nawab KapurSingh (2) Khushal Singh
(3) Jassa Singh (4) JaiSingh

Q.156 Which one of the natural Region is known as the
‘Bread Basket’ of the world?’
(1) The Steppes Region
(2) The Monsoon Region
(3) The Mediterranean Region
(4) The Equatorial Region

Q.157 Which of the following industrial towns is located
on the Chhotanagpur Plateau?
(1) Chennai (5]
(3) Srinagar (4)

Ranchi
Sundernagar

Q.158 The dominant type of irrigation in Peninsular India .

is by:-
(1) Canals (2 Tanks
(3) Wells (4 Sprinklers

Q.159 In respect of which one of the following crops,
the Green Revolution in india had limited impact?.
(1) Maize (2) Wheat
(3) Rice ) Pulses

Q.160 The rocks, through which the water seeps very

fast, are called as:- v
(1) Mushroom Rocks (2) Hard Rocks
(3) lgneous Rocks (4) Permeable Rocks

Q.161 Which state of india has the lowest density of
population?
(1) Arunachal Pradesh (2) Uttar Pradesh
(3)  Punjab (4) Assam

Q.162 Stalactites, Stalagmites, Pillars and Caves like
features found in the Limestone region are formed
by which of the following?

(1) Wind (2) Snow
(3) Underground water(4) Animals and birds

Q.163 ‘Active’, ‘Dormant’ and ‘Extinct’ are the types
of

(1) Mountains (2) Piateaus

(3) Voleanoes 4) Cyclones
Q.164 Which of the following is the main Rabi crop of

Punjab?

(1) Rice 2) Maize

(3) Wheat 4) Groundnut
Q.165 On the leaves of which tree, the silk worms are

reared/fed?

(1) Neem (2) Mulberry

(3) Acacia 4) Mango

Y155 ... 3 IFhar funs o fveryer w5t
(1) sEgaygfiwr  (2) unos
(3) #nr fing (4)  #fawr
Y156 35 fed geast st foF faw § fg & ‘B
gHEE IR S O eq9T fagr Aier 7
(1) w3
(2) Wapat 43
(3) grATaret O
(4) g-Hu wart 4w

y.157 35 fafnt &9 faaar Qutifors wfge Ser avanye ?

Tusg I Rfgg e
(1) Sxdt (2) gt
(3) Htas@ (4)  Hedsaw

Y.158 YyY3t 993 f&¥ A9 § yzgrewst fimrst o
mus faasr §7? '
(1) =fggr (2) 359
(3) wo (4) fegam a9s @8 rus
y.159 9793 9 gdt grat er Iz oty et
&3 fom ere 2 A9 3 we yere fiprr?
(1) Hat {2) &7
(3) 5 (4) =&t
y.160 frasht Sest feg' wat 831 &t faw mrer &
€uat & ot faor v §7
(1) HEEHT st (2) AUz derst
- (3) wiErat gerst (4) yAHe derat
Y.161 97 BT A9 3 U S wegr o oy fausr 7
(1) ngaTas yon (2) BGzvyew
(3) Im g (4)  wwy

Y.162 AEBATTELR, REHIMTEle, §H, grevet =aat mgrg
fmz%fagwﬂ‘aamfévw@'#ém,ﬁj

fafiout f65° fam a7 9= g7
(1) g=r (2) w3®
(3) ot IsmT yrat (4)  ug w3 gt
y.163 ‘fafendts’, ‘yguz’, ‘g9 3¢ fag otur
famut a7 :
(1) ygaz (2) usTa
(3) ATTHEYHT (4) Sggerg
q.16435'5'fsfw#fé§‘ﬂwae°rguws‘fmfaas°r
?
(1) 3% (2) =t
(3) e (4 [fe=st
y.165 3m 2 Fifeput § faw U2 @ Ufowt 3wl
Aar 7
(1) fé&w (2) "oz
(3) f&=a (4) Wy



Q.166 Which of the following freedom is not available to
indian citizens?
(1) Freedom to criticize the govt
(2) Freedom to start a movement to
change the government
(3) Freedom 1o participate
-revolution against the state
Freedom to assemble peacefully and
without arms.

in armed
4

Q.167 Who among the following is a part of political
execcutive?
(1) District collector
(2) Director general of police
(3) Secretary of the ministry of home affairs
(4) Homeminister

Q.168 Which of the following statements about the
judiciary is false'?
aga:,nsghc provmons of‘ thu constitution
(2) Every law passed by the parliament
: requires approval of the judiciary
Judiciary is independent of the executive
Any citizen can approach the judicial
courts ifhis right is violated.

()
4)

Q.169 Among the following, which two subjects are
included in union list, on which centre government
can make law
(1} Defence and Foreign Affairs
(2) Banking services and Police
(3) Marriage and divorce and Agriculture
(4) Post and Telegraph Department and

Education

Q.170 In which institution 1/3 seats are reserved for
i women?
(1) In Lok sabha
(2) Instate legislative Assemblies
(3) InRajya Sabha
(4) Institutions of local self government

Q.171 When and under whose leadership was Bahujan
Samaj Party (BSP) formed?

(1) 1982, Mayawati
(2) 1984, Kanshi Ram
(3) 1985, Mulayam Singh Yadav
(4) 1986, Bhajan Lal
Q.172 Which among the following is not a part of indian
Preamble?

(1) Secularism (2) Socialist
(3) Sovereign, Democratic (4) Federalism
and Republic
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y.166 I5 Tafes gazogrer fes faust g¥gagr gost
srarfeat § yuz sat 7
(1) ATEd T MBTsT d9% ©f FII93T
(2) paarg § gene &t afog gefe &
A3IT3T
(3) g+ fegu ofewale fevsaags Tt pdgqar
(4) AYavEt w3 fast ofomret 3 fedge Je ot
HI393™
u167ﬁﬁ$ﬁ#&wf?€a€a‘ﬂ?ﬂ3&m€f
U?
(1) frsr wfuarat/ g8aed
(2) sfedaes waas ve ufeR
(3) gfo H3e® e RdIT
(4) arfanaa’r

y.168 %h?mmwmmf‘evfaasf

IG5 IBIF J7

(1) femturfear fan & @7 avds § 5
g9 Fa<t I § fifews »igas sdt

(2) ARE PHTIT YR FI3 I3 a6 BEt
fenturfaar € yevsatt Aget 9

(3) fomturfaar, aaruisar 3 g339 3

(4) 93T safea fomtufsar &% o Aaer
¥ Agg G wiftarat & Qower stat vy

Y.169 35 fahmit feg faud @ fei fy get @ wiats
e g5 faw 3 dedt veams § ads w8
o ofgarg J7
(1) gafumt wmF feowt s
(2) ¥ A=r w3 ufsw
(3) fenrg 3 goT T Atgrst
(4) 57 379 fegar M3 fFfprr

y.170 faw fmgr &9 niggt ®et 1/3 Aot gyt
TPt w95 7
(1) 8 A9 fIg
(2) a9 feus raver fég
(3) a7 AT f<9
(4) FO'ST AR-HHS ©bdt fraret fég

Y.171 9gA& AN™H uTaet € REYsT g9 w3 faw
: nrgr @8 |13t aret ¢ :

(1) 1982, wfeuest

(2) 1984, Rt

(3) 1985, yuriey fig uee

(4) 1986, TAS T

y.172 fevst fe¥ faggr gast yraresT v fnr &4t 37

) o faaingr (2) mAEdt
(3) Y337 fus, Bagsdt, (4) Auew
gred™



Q.173 Which among the following is the biggest.and
strongest obstacle in the way of National
Integration of india.

(1) Linguistic policy declared by the government

(2)  Financial crisis faced by the National Integration
council

(3) - Formation-of states-on the basis of Language

(4)  Lack of strongand sound National Conciousness.

Q:174 Which among the following is not a part of right
to information Act 2005,
(1) Ask any question from the government
orseek any information
Inspect any government work
To punish any goverament official or
department
Take samples of material of any
government work get them inspected

(2)
3

4

Q.175 In the formation of govt. in which of the following
conditions the head of the state (President) can
have a real choice?

(1)  When no single party has an absolute
majority:in the legislature

When a single party has absolute

majority

When two or three parties are in the

race to form the govt.

When a single party ‘has an over

whelming majority

@)

Q.176 Which of the following neighbouring country has
better performance in terms of human
development than india?

(1) SriLanka 2) Bangladesh
(3) Nepal 4) Pakistan
Q.177 *Consumer Protection Act’ was enacted in.
(1y 1982 2) 1984
(3) 1986 (4) 1988
Q.178 In terms of GDP the share of tertiary sector on
2003 is...ou
(Iybetween.20 to 30%  (2) between 30.to 40%
(3) between 40 to 50%  (4) between 50 to 60%
Q179 ... is authorised to'issue currency in india
(1) Commercial Bank
(2). Reserve Bank of India
(3) NABARD
(4) Finance Companies
Q. 180 Literacy ratc in Punjab according to 2001 is.
(1) 80 v 70
(3) 60 4) 30

Y.173 3793t THed! Pdlags ¥ g f&w my 3 ¥t
garee faodt 32

Aag €8 Wi smavet siat

gHedt Sdtaee ufore & us €t we

IHT & wye 3 g o gEI9

TUPHT W3 HAES THEET F3&TT St we

(1)
(2)
(3)
(4)

Y.174 geaT T wfugrs Mae 2005 wals 35 fafiout

&5 ot avm wat 37 :

(1) Aegs T qet €t yax Uger 3 areadt
THE HIET

(2) fai woardt &y € /9 UFIT TIST

(3) faR Agaret wifaaret wF fegwar § mar
ger

(4 faﬁmm?annau?muwm
H9 aggst

Y.175 AaaTg 9579 AEGt 95 fefmt f&F fan owg
%?@H?M(W)W&?MWW

Je

(1) 7a9 fan vt § < feusuizar &
YIT TgHI TS &T T

n?mfeawaz‘rguaamm

n@‘@f‘éx yrgeht maarg gsr8T o
CESCrkora

ae fait feq uget § gz sz
a*a’retrn%aw‘wu?aa:

y.176 %faﬁwfevfaa%mmﬁm
feami & Wi i =dbwr Onardt 3
(1) gt &ar (2) ‘fEmeR
(3) U (4)  yfarAas
Y.177 ‘QUIAIST RUE WFe..... & dfenm /|
(1) 1982 (2) 1984
13) 1986 (4) 1988
u178m20031‘a'vmw§8'@3m?f‘ﬁ'3h
ggg e fomr...... g=er 3
(1) 203 30% fegaa(2) 30 3 40% fegaa
(3) 403 50% fega9 (4) 50 T 60% feuarg

y.179 9793 f&w qort Ardt 9% ©F mEadt.. 3% T

(2)
(3)

(4)

&

(1) =ud gor
(2) fomee 85 mre st
(3) sTE9F
(4) &3 usht
Y180 Uy Tt ANYE3T B9 AS 2001 & WgAT 1
(1) 80 {(2) 70
(3) 60 (4) 50
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